Sherman County FY05 Screening for EQIP

1) Will the applicant address extensive concentrated flow erosion?  Yes- 1 pt

If the applicant has concentrated flow for resource concern and it is extensive, then the applicant will have to do more than residue management.  Structures will be needed to address the concern.
2) Will the application reduce sheet, rill or wind erosion on cropland?

Predominantly on HEL? Yes, 2 pts

      Predominantly on other land? Yes, 1 pt

4) Does the applicant have an existing EQIP contract?  No, 1 pt

5) Did the applicant apply for EQIP in previous FYs and not get funded?  Yes, 1 pt

6) Did the applicant complete a self assessment of the proposed acreage for EQIP?  Yes, 2 pts

Total possible = 7
High = 7
Medium = 5, 4
Low = 3,2,1
Tie Breakers for FY’2005 

EQIP Applications in Sherman County

Producer_________________________
Date___________Tract _______________

Directions:  Add up all pertinent tie breakers.  

1. Predominant Erosion Index for cropped HEL.



___

 
 Take the predominate soil and use that EI for the score.

2. Also using CCRP or CREP on this tract?




___

If the landowner has signed up for CCRP or CREP on this tract, then they receive 1 points.

3. Applicant has never received any form of cost share for similar practices.

If the producer has not received any type of cost share dollars for the practices that they signed up for, they receive 1 point.

___

4. Number of resource concerns to be addressed.



___

Use the number of resource concerns that appears at the bottom of the EQIP Ranking Worksheet and give the person a point for each resource concern that they will address with this application.  

5. Use of new and innovative technology, going the “step or beyond.”
___

Give the person 1 point for using new technology or for trying a new practice that will conserve resources more than what they have been doing in the past.

6. Ease of contracting (short contracts, planning already done, no special assistance needed, flat rates, etc).

Give the person 1 point for making the planning process easier to cut back on the office workload.





___

Total of tiebreakers ___________________

